
How much change?

James, Daniel and Lucy go to the shops. They each have £1 to spend.
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James bought a teddy bear and crayons, that cost 74p altogether.  How much change does he need?

                       ___________________________

                                                                74                                                   100
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 Daniel bought a kite and a bag, these cost 81p.  How much change should he have?

                  _______________________



81






100

3. [image: image14.wmf][image: image15.wmf]Lucy bought sunglasses and a football, they cost 63p.  How much change should she have?                                                   
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[image: image9.png]Adding Money and Giving Change

Solve these questions but make sure you show your workings. See if you
can self-check your answers after by using a calculator

o ¥ éa

Beach ball £2.99 Bucket and spade Beach towel
£4.47 £6.25

Rubber ring Wind break
£5.62 £18.79




[image: image10.png]A group of children buy the following items.
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A beach ball, bucket and spade and beach towel. How much
change from £207

An ice cream, rubber ring and wind break. How much change
from £262

A bucket and spade, ice cream and beach towel. How much
change from £157

A beach ball, rubber ring and wind break. How much change
from £40>

A beach towel, ice cream and rubber ring. How much change
from £157

A bucket and spade, rubber ring and beach ball. How much
change from £14>

A beach towel, rubber ring and wind break. How much change
from £502

An ice cream, bucket and spade and beach ball. How much
change from £10>
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Cake Stall





Calculate the total cost of the items in the row and work out how much change you would get from £5


Don’t forget to show your workings!
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